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1. PROGRAM TO IMPLEMENT DDA LINE ALGORITHM :

CODING:

#include <graphics.h>

#include <stdlib.h>

#include <stdio.h>

#include <conio.h>

#include<iostream.h>

int main()

{

   /* request auto detection */

   int gdriver = DETECT, gmode, errorcode;

   int X,Y;

   float x,y,x1,y1,x2,y2,m;

   /* initialize graphics and local variables */

   initgraph(&gdriver, &gmode, "C:\\Turboc3\\BGI");

   /* read result of initialization */

   errorcode = graphresult();

   if (errorcode != grOk)  /* an error occurred */

   {

      printf("Graphics error: %s\n", grapherrormsg(errorcode));

      printf("Press any key to halt:");

      getch();

      exit(1); /* terminate with an error code */

   }

   cout<<"\t\tDIGITAL DIFFERENTIAL ANALYZER ALGORITHM FOR LINE DRWAING";

   cout<<"\nEnter the Ist point:";

   cin>>x1>>y1;

   cout<<"\nEnter the IInd point:";

   cin>>x2>>y2;

   m=float((y2-y1)/(x2-x1));

   if(m<=1)

   {

   y=y1;

   for(x=x1;x<=x2;x++)

   {

   y=y+m;

   Y=int(y+0.5);

   X=x;

   putpixel(X,Y,WHITE);

   }

   }

   else

   {

   x=x1;

   for(y=y1;y<=y2;y++)

   {

   x=x+m;

   X=int(x+0.5);

   Y=y;

   putpixel(X,Y,WHITE);

   }

   }

   /* clean up */

   getch();

   closegraph();

   return 0;

}
OUTPUT:
[image: image2.png]DIGITAL DIFFERENTIAL ANALYZER ALGORITHM FOR LINE DRWAING
Enter the Ist point: 100 100

Enter the IInd point:200 200




2. PROGRAM TO IMPLEMENT BRESENHAM’S LINE ALGORITHM :
CODING:
#include <graphics.h>

#include <stdlib.h>

#include <stdio.h>

#include <conio.h>

#include<iostream.h>

int main()

{

   /* request auto detection */

   int gdriver = DETECT, gmode, errorcode;

   float x,y,x1,y1,x2,y2,dx,dy,p;

   /* initialize graphics and local variables */

   initgraph(&gdriver, &gmode, "C:\\Turboc3\\BGI");

   /* read result of initialization */

   errorcode = graphresult();

   if (errorcode != grOk)  /* an error occurred */

   {

      printf("Graphics error: %s\n", grapherrormsg(errorcode));

      printf("Press any key to halt:");

      getch();

      exit(1); /* terminate with an error code */

   }

   cout<<"\t\tBRESENHAM'S ALGORITHM FOR LINE DRWAING";

   cout<<"\nEnter the Ist point:";

   cin>>x1>>y1;

   cout<<"\nEnter the IInd point:";

   cin>>x2>>y2;

dx = (x2 - x1);

dy = (y2 - y1);

p = 2 * (dy) - (dx);

x = x1;

y = y1;

putpixel(x,y,WHITE);

while(x <= x2)

{

if(p < 0)

{

x=x+1;

y=y;

p = p + 2 * (dy);

}

else

{

x=x+1;

y=y+1;

p = p + 2 * (dy - dx);

}

putpixel(x,y,WHITE);

}

   /* clean up */

   getch();

   closegraph();

   return 0;

}
OUTPUT:

[image: image3.png]BRESENHAM'S ALGORITHM FOR LINE DRWAING
Enter the Ist point: 100 100

Enter the IInd point:200 200




3. 
PROGRAM FOR SCAN CONVERTING A CIRCLE USING MID-POINT METHOD:
CODING:

#include<stdio.h>

#include<conio.h>

#include<graphics.h>

void plot(int,int,int,int);

void circle1(int, int, int);

void main()

   {  int xc,yc,r;

     int gd=DETECT,gm;

     initgraph(&gd,&gm,"c:\\Turboc3\\bgi");

     printf("\n\nEnter center: ");

     scanf("%d",&xc);

     scanf("%d",&yc);

     printf("Radius: ");

     scanf("%d",&r);

     circle1(xc,yc,r);

     getch();

     closegraph();

    }

void circle1(int xc,int yc,int r)

{

    int x,y,d;

    x=0;

    y=r;

    plot(x,xc,y,yc);

    d=1-r;

    while(x<y)

    {

     if(d<0)

     {

      x=x+1;

      y=y;

      d=d+(2*x)+1;

     }

     else

     {

       d=d+(2*(x-y))+5;

       x=x+1;

       y=y-1;

     }

    plot(x,xc,y,yc);

    }

}

void plot(int x,int xc,int y,int yc)

    {

      putpixel(xc+x,yc+y,15);

      putpixel(xc-x,yc+y,10);

      putpixel(xc+x,yc-y,15);

      putpixel(xc-x,yc-y,15);

      putpixel(xc+y,yc+x,15);

      putpixel(xc-y,yc+x,15);

      putpixel(xc+y,yc-x,15);

      putpixel(xc-y,yc-x,15);

    }
OUTPUT:

[image: image4.png]Enter center: 200 200
Radius: 100





4. PROGRAM FOR SCAN CONVERTING  CIRCLE USING BRESENHAM’S CIRCLE METHOD:

CODING:

#include<stdio.h>

#include<conio.h>

#include<graphics.h>

void plot(int,int,int,int);

void circle1(int, int, int);

void main()

   {  int xc,yc,r;

     int gd=DETECT,gm;

     initgraph(&gd,&gm,"c:\\Turboc3\\bgi");

     printf("\n\nEnter center: ");

     scanf("%d",&xc);

     scanf("%d",&yc);

     printf("Radius: ");

     scanf("%d",&r);

     circle1(xc,yc,r);

     getch();

     closegraph();

    }

void circle1(int xc,int yc,int r)

{

    int x,y,d;

    x=0;

    y=r;

    plot(x,xc,y,yc);

    d=3-(2*r);

    while(x<y)

    {

     if(d<0)

     {

      x=x+1;

      y=y;

      d=d+(4*x)+6;

     }

     else

     {

       x=x+1;

       y=y-1;

       d=d+(4*(x-y))+10;

     }

    plot(x,xc,y,yc);

    }

}

void plot(int x,int xc,int y,int yc)

    {

      putpixel(xc+x,yc+y,15);

      putpixel(xc-x,yc+y,10);

      putpixel(xc+x,yc-y,15);

      putpixel(xc-x,yc-y,15);

      putpixel(xc+y,yc+x,15);

      putpixel(xc-y,yc+x,15);

      putpixel(xc+y,yc-x,15);

      putpixel(xc-y,yc-x,15);

    }

OUTPUT:

[image: image5.png]Enter center: 200 200
Radius: 100





5. PROGRAM TO SCAN RECTANGLE USING OPPOSITE CORNER POINTS :

CODING:

#include <graphics.h>

#include <stdlib.h>

#include <stdio.h>

#include <conio.h>

#include<iostream.h>

int main()

{

   /* request auto detection */

   int gdriver = DETECT, gmode, errorcode;

   float x1,y1,x2,y2;

   int i=0;

   /* initialize graphics and local variables */

   initgraph(&gdriver, &gmode, "C:\\Turboc3\\BGI");

   /* read result of initialization */

   errorcode = graphresult();

   if (errorcode != grOk)  /* an error occurred */

   {

      printf("Graphics error: %s\n", grapherrormsg(errorcode));

      printf("Press any key to halt:");

      getch();

      exit(1); /* terminate with an error code */

   }

   cout<<"\tRECTANGLE DRAWING\n";

   cout<<"\nEnter the Ist point:";

   cin>>x1>>y1;

   cout<<"\nEnter the IInd point:";

   cin>>x2>>y2;

   for(i=x1;i<=x2;i++)

   {


putpixel(i,y1,WHITE);

   }

   for(i=y1;i<=y2;i++)

   {


putpixel(x2,i,WHITE);

   }

   for(i=x2;i>=x1;i--)

   {


putpixel(i,y2,WHITE);

   }

   for(i=y2;i>=y1;i--)

   {


putpixel(x1,i,WHITE);

   }

   /* clean up */

   getch();

   closegraph();

   return 0;

}
OUTPUT:

[image: image6.png]RECTANGLE DRAWING

Enter the Ist point:

Enter the IInd point:

100

300

100

200





6.  PROGRAM TO PERFORM SHEARING OF RECTANGLE:
CODING:

#include<stdio.h>

#include<process.h>

#include<conio.h>

#include<graphics.h>

#include<math.h>

void disp(int n,float c[][3])

{

float maxx,maxy;

int i;

maxx=getmaxx();

maxy=getmaxy();

maxx=maxx/2;

maxy=maxy/2;

i=0;

while(i<n-1)

{

line(maxx+c[i][0],maxy-c[i][1],maxx+c[i+1][0],maxy-c[i+1][1]);

i++;

}

i=n-1;

line(maxx+c[i][0],maxy-c[i][1],maxx+c[0][0],maxy-c[0][1]);

setcolor(GREEN);

line(0,maxy,maxx*2,maxy);

line(maxx,0,maxx,maxy*2);

setcolor(WHITE);

}

void mul(int n,float b[][3],float c[][3],float a[][3])

{

int i,j,k;

for(i=0;i<n;i++)

for(j=0;j<3;j++)

a[i][j]=0;

for(i=0;i<n;i++)

for(j=0;j<3;j++)

for(k=0;k<3;k++)

{

a[i][j] = a[i][j] + (c[i][k] * b[k][j]);

}

}

void shearing(int n,float c[][3])

{

float b[10][3],sh,a[10][3];

int i=0,ch,j;

cleardevice();

printf("\n\t* * * MENU * * *");

printf("\n\t1) X SHEARING");

printf("\n\t2) Y SHEARING");

printf("\n\t3) EXIT ");

printf("\n\tENTER YOUR CHOICE : ");

scanf("%d",&ch);

if(ch==3)

return;

printf("\n\tENTER THE VALUE for SHEARING:      ");

scanf("%f",&sh);

clrscr();

cleardevice();

for(i=0;i<3;i++)

for(j=0;j<3;j++)

b[i][j]=0;

for(i=0;i<3;i++)

b[i][i]=1;

switch(ch)

{

case 1:

b[1][0]=sh;

break;

case 2:

b[0][1]=sh;

break;

case 3:

break;

default:

printf("\n\tINVALID CHOICE ! ");

break;

}

mul(n,b,c,a);

setcolor(WHITE);

disp(n,a);

}

void main()

{

int i,j,k,cho,n,gd=DETECT,gm;

float c[10][3],tx,ty,sx,sy,ra;

initgraph(&gd,&gm,"c:\\turboc3\\bgi");

printf("\nEnter the number of vertices :   ");

scanf("%d",&n);

for(i=0;i<n;i++)

{

printf("\nEnter the co-ordinates of the %d vertex :",i+1);

scanf("%f%f",&c[i][0],&c[i][1]);

c[i][2]=1;

}

do

{

clrscr();

cleardevice();

printf("\n\t\t\t * * * MENU * * *");

printf("\n\t 1) SHEARING");

printf("\n\t 2) EXIT");

printf("\n\t ENTER YOUR CHOICE:  ");

scanf("%d",&cho);

switch(cho)

{

case 1:

clrscr();

cleardevice();

setcolor(BLUE);

disp(n,c);

shearing(n,c);

getch();

break;

case 2 :

exit(0);

break;

default:

printf("\n\tInvalid choice !!");

break;

}

}while(cho!=2);

getch();

closegraph();

}

OUTPUT:
Enter the number of vertices :   4
Enter the co-ordinates of the 1 vertex : 10
10
Enter the co-ordinates of the 2 vertex : 50
10
Enter the co-ordinates of the 3 vertex : 50
30
Enter the co-ordinates of the 4 vertex :10
30
* * * MENU * * *

1) SHEARING
2) EXIT
ENTER YOUR CHOICE:
1
* * * MENU * * *

1) X-SHEARING

2) Y- SHEARING
3) EXIT
ENTER YOUR CHOICE:
1
ENTER THE VALUE for shearing: 3
[image: image7.png]



* * * MENU * * *

1) SHEARING
2) EXIT
ENTER YOUR CHOICE:
2

